Schmdt W

ACCT 101 - Exam #4 - Chap 10 — 12 - Schmidt

Student:

1. A bond traded at 102 2 means that:
A. The bond pays 2.5% interest
(B)JThe bond traded at $1,025 per $1,000 bond R Yo
*. The market rate of interest is 2.5%
D. The bonds were retired at $1,025 each
E. The market rate of interest is 2 4% above the contract rate

2. The contract beiween the bond issuer and the bondholders, which identifies the rights and obligations of the
parties is called a(n): :
A Debenture
Bond indenture P o
C. Mortgage
D. Installment note
E. Mortgage contract

3. What is tle debt to equity ratio Yor a company with $700,000 in total liabilities and $3,500,000 in total
uity?

20% 700 000

B. 5 : = 208
C. $2,100,000 BS00 00D -

D. 2% |

E..5

4. When a bond sells at a premium:
The contract rate is above the market rate ~ fjw cCoN 8,(_;{ M e49— +han + €L
. The contract rate is equal to the market rate
C. The contract rate is below the market rate
D. It means that the bond is a zero coupon bond
E. The bond pays no interest



5. A company issues 9%, 20-year bonds with a par value of $750,000. The current market rate is 9%. The
amount of interest owed to the bondholders for each semiannual interest payment is.

A. 50
o Ox R T
D. §£750,000

E. $1.550,000 SO O X L OYX @//2 = 33750

6. On January 1, 2009, a company issued and sold an $850,000, 6%, 5-year bond payable and received proceeds
of 825,000. Interest is payable each June 30 and December 31. The company uses the straight-line method to
amortize the discount. The journal entry to record the first interest payment is:

' Bond lmarest Expem,e . . & 21 ‘*'r(}() I.. ?W.QDD X0k 7“‘"/'2
1  Cash . | , } 25,500 =25 500
| Bond Interest dBspese L $1.0007 T ZSJJDD"’ 0= 2500
! Cash . ai= o ... 31.000 "—‘;Q o0
B . e B o ryara T s '
| Bo:"u':lwinler'éqt E\]‘nensa '[ 28 000 e g i m
| Discount onBonds Payable i od i o 2,'&00
' _ fi"‘nsh | 25,500 | .~
C.t | i e e s 4311 2., et T TV g e PO If '"""_J
and [nturest E\penﬁe o 2? 0[)0 I i
‘ Discount on Bonds Pay able | 2 100 i -
o Cash I | 25500
D. | I — e o !
Bund Intc:rc'st h\.pcnsc i | ?'5 'SOD .
.fl'_}lﬂmunt on Eum’rs I-“awb]c o o i 2 500 I _
E. . Cash ' 28,000

G 7. Adidas issued 10-year, 8% bonds with a par value of $200,000. Interest is paid semiannually. The market rate
on the issue date was 7.5%. Adidas received $206,948 in cash proceeds. Which of the following statements is
true? P 200 0%, 08> “bﬁ?-

A. Adidas must pay $200,000 at maturity and no interest payments = g0

B. Adidas must pay $206,948 at maturity and no interest payments

@c\didas must pay $200,000 at maturity plus 20 interest payments of $8,000 each

D. Adidas must pay $206,948 at maturity plus 20 interest payments of $8,000 each

E. Adidas must pay $200,000 at maturity plus 20 interest payments of $§7,500 each



8. A company received cash proceeds of $206,948 on a bond issue with a par value of $200,000. The difference
between par value and issue price for this bond is recorded as a:
A, Credit to Interest Income
redit to Premium on Bonds Payable
. Credit to Discount on Bonds Payable

D. Debit to Premium on Bonds Payable
E. Debit to Discount on Bonds Payable

9. On January 1, 2009, Merrill Company borrowed $100,000 on a 10-year, 7% instaliment note payable. The
terms of the note require Merrill to pay 10 equa ments of $14,238 each December 31 for 10 years. The
ruquu‘eg gencral Jjournal entry to record the first payment O the note on December 31, 2009 is:

YetesprayatteT- i ".'.'."'r.".."f_ ;i {n}‘f* IOOCZ,‘OX ,07;—-_, F?OOO

lntere'-:-t expense
L ns h

2k
" NOLES PAYADIE .....ccccovceeerrrennerrens o oo | 77.000 | |
| INTETEat EXDENSE oo vvseesmmivarssssssossassy iosigsinsipid Vo238
| L,:wh .................................... ‘ P 14238
Notes pﬂ} nble ........................................................ P 10,050 E o
Intc.re_ﬂt ehpense. .................................................... 7,000 F o
Cnsh_! - 17,000
Nﬂtﬂs pﬁ.‘ablﬂ..:. """ AN AT o bl b i ""'“".“‘".i‘ 14 2-%_8 l_._- S ey l
CASR ] | 14,238
T Notespa\'ab]e B —— lO 000 |
| Ir_ltemstExpeusc .................... . i 42«& e
R O S - R L 14238

10. The total amount of stock that a corporation's charter allows it to issue is referred to as:
A. Issued stock '

B. Outstanding stock

C. Common stock

Preferred stock
uthorized Stock

11. Par value of a stock refers to the:

A. Issue price of the stock
@ alue assigned to a share of stock by the corporate charter

. Market value of the stock on the date of the financial statements
D. Maximum selling price of the stock
E. Dividend value of the stock



12. A company issued 7% preferred stock with a $100 par value. This means that:
. Preferred sharcholders have a guaranteed dividend
é The amount of the potential dividend is $7 per year per preferred share
. Preferred shareholders are entitled to 7% of the annual income
D. The market price per share will approximate $100 per share
E. Only 7% of the total contributed capital can be preferred stock

13. A company has 2,000 shares of $1 par value common stock and 200 shares of 5%, $110 par, non-
cumulative preferred stock outstanding. The balance in Retained Earnings at the beginning of the year was '
$500,000. Net income for the current year was $300,000. If the company paid a dividend of $2 per share on its
common stock, what is the balance in Retained Earnings at the end of the year?

A. $800,000 - -
$805.100 'Beg RE S00,000
$794,900 -+ N 300,000

D. $494,900

E. $194,900 ~DWV = ¢l H000

(2R 20500
— 75 1100

T (Hw.osxwab 204900
. The price-earnings ratio is calculated by dividinig: 7 o
éﬂm’ket value per share by carnings per share A GO

B. Earnings per share by market value per share

C. Dividends per share by earnings per share

D. Dividends per share by market value per share

E. Market value per share by dividends per share

15. A company has a market value per share of $73.00. Its net income is $1,750,000 and the weighted-average
number of shares outstanding is 350,000. The company's price-eamings ratio equals:
A.20.9

4.2 3=,
D. 20.0 \TIspom ~- 330,00 T M. G
E.6.8 ‘ 5

16. A corporation sold 14,000 shares of its $10 par value common stock at a cash price of §13 per share. The
entry to record this transaction would include:
A. A debit to Contributed Capital in Excess of Par Value, Common Stock for $42,000 )y
B. A debit to Cash for $140,000 ™D
A credit to Common Stock for $182,000 NO
@A credit to Cormnmon Stock for $140,000 —

. A credit to Contributed Capital in Excegs of Par \’a;zCommon Stock for $§182,000 NP

§2000
Oas\?: {jtm()ﬁ X }-é) /40,000

S U2



17. A stock dividend:
~ A. 1s not a liability on the balance sheet
B. Does not reduce a corporation's assets and stockholders' equity
C. Transfers a portion of equity from retained earnings to contributed capital
oes not affect total equity, but does affect the components of equity
@11 of the above

18. A company has 1,000 shares of $50 par value, 4.5% cumulative and nonparticipating preferred stock and
10,000 shares of $10 par value common stock outstanding. The company paid total cash dividends of $1,000 in
its first year of operation. The cash dividend that must be paid to preferred stockholders in the second year
before any dividend is paid to common stockholders is:

A. $1,000 _aac - o0

B. $1,250 SO, 048 = 2,48 P thane X0
$2,250 = 2250 -

1'$3,500 |

E. $4,500 N Ttars. 1250 +~ 2250 3500

(2250~1000 corvendt
}(1"’
19. Treasury stock is classified as:
A. An.asset account
B. A contra asset account
. A revenue account

A contra equity account
E. A liability account

20. The following data were reported by a corporation:

»Auul?flz‘?dﬂlﬂr?q """ e ! ‘ 200001
Issued ShATes.....on " lS.U_U{’j ]‘.-', E,u@_d LLQ.S ‘*H’? (R we !ﬂdﬂ’{
- Treasury shares ... asbhos AR skt 0s 4 bionsy . 3,000

B f_ in T/8

12,000
515,000
C. 17,000
D. 20,000
E. 23,000

Fz number of outstanding shares is:



21. The appropriate section in the statement of cash flows for reporting the purchase of equipment for cash is!
A. Operating activities —

Financing activities
vesting activities
. Schedule of noncash investing or financing activity

E. None of these. This is not reported on the statement of cash flows

22. The appropriate section in the statement of cash flows for reporting the issuance of common stock for cash

is: :
A, Operating activities
@ inancing activities
. Investing activities

D. Schedule of noncash investing or financing activity
E. None of these. This is not reported on the statement of cash flows

23. A company's transactions with its creditors to borrow money and/or to repay the principal amounts of loans
are reported as cash flows from: : ——
A. Operating activities

Investing activities

Financing activities
D. Direct activities
E. Indirect activities

24. The statement of cash flows helps address questions such as
A. How is the increase in investments financed?
B. What is the source of cash for new plant assets?
C. How much cash is generated from or used in operations?
Why is cash flow from operations different from income?
@All of the above

25. When using the indire ethod to calculate and report net cash provided or used by operating activities,

ch of the following\] = from net income? N l
Decrease in income taxes payable (&S
8. Depreciation expense N0 ‘d Addg 2 Iﬂ)“fﬂ
|DSAS

C. Amortization of in?\n ible assets 1)
D. Bad debts expense
E. Decrease in merchandise inventory

NCA
Dedure: e

whal i



26. A company's income statement showed the following: net income, $124,000; depreciation expense, $30,000
and gain on sale of plant assets, $14,000. An examination of the company's current assets and current liabilities
showed the following changes as a result of operating activities: accounts receivable decreased $9,400;
merchandise inventory increased $18,000; prepaid expenses decreased $6,200; accounts payable increased

$3,400. Calculate the net cash provided or used by operating activities. N\
. $139,000 e | I24-600
@mm,ooo PN ExXP 30000
. $145,800 |D€-.*f.f-€§
D. $155,000 \],(2,«!, Aveo 49000
E. $167,000 \ . oz
o SN -

N 14000
Mc&(‘?@\ e 1 8Ga0E 2 208
27. A machine with a cost of $130,000 and accumulated depreciation of $85 000\1‘{ g‘ﬁn‘or $50 000 casflqllhg OC
@mum that should be reported as a source of cash under cash flowg from investifig a :

$50,000
. $5,000
C. $45,000
D. Zero. This is an operating activity

E. Zero. This is a financing activity

28. The first line item in the operating activities section of a spreadsheet for a statement of cash flows prepared
using the indirect method is:
A. Cash
B. Cash received from customers
Increase (decrease) in accounts receivable
et income
E. Adjustments to net income

L/T Lab b &hfbu“l'&'f
29. Which of the following items is reported on the statement of cash flows under financing activities?

Affcclaration of a cash dividend N D, Must \ge \Pm o\

ayment of a cash dividend &€ &
. Declaration of a stock dividerd y QO
D. Payment of a stock dividend Y Q
E. Stock split 0o -

30. The appropriate section in the statement of cash flows for reporting the purchase of land in exchange for
common stock is:

—& Operating activities

B. Financing activities

Investing activities
chedule of noncash investing or financing activity

one of these. This is not reported on the statement of cash flows




Problem Section — TURN YOUR SCAN TRON FACE DOWN BEFORE CONTINUING ON. Choose fourof
the following six problems and prepare complete solutions SHOWING ALL CALCULATIONS!

31. On Jan 1, 2009 ABC Enterprises issues bonds that have a $3,650,000 par value, mature in 20 years, and pay
10% interest semiannually on 6/30 and 12/31. The bonds are sold at 101. Prepare the following JE’s showing
details for all amounts. Assume that discounts/premiums are amortized on each interest date. Also answer the
question d. Round answers 1o nearest dollar.

(a) Prepare the JE on Jan 1 to issue the bond.

(b) Prepare the JE on 6/30 to record the interest payment and the amortization of the premium or discount.
(You can do in one or two JE’s.)

(c) Prepare the JE on 12/31/ to record the interest payment and the amortization of the premium or discount.

(d) How much total bond interest expense will be recognized over the life of the bond?

32. On Januai'y 1, ABC Company borrows $90,000 cash by signing a four year 5% installment note, The note
requires four equal payments of amortized interest and principal on December 31 of each year from 2009 to
2012.' The present value of an annuity factor for the note is 3.5460.

(a) Compute the amount of each of the four annual payments

(b) Prepare an amortization table which shows the payment number, the date of the payment, the total of the

payment, and the split between principal and interest for each of the four payments. Round to the nearest whole
dollar.

33, Norton’s outstanding stock consists of 13,000 cumulative, 8% preferred stock with a $10 par value and
32,500 shares of common stock with a $1 par value. During it’s first four years of operations, the corporation
declared the following total cash dividends.

2009 § 8,000

2010 §$10,000
2011  $60,000
2018, $120,000

Allocate the dividends declared between the preferred shareholder’s and the common shareholders for each
year. Be sure to show supporting calculations.



34. A company reported the following stockholders' equity on January 1 of the current year:
Common -atocL $10 par, 1.000. 000 shares ‘

_authorized, 400 000 ':I'lﬂl’BS 15511&:1 ................... ..... §4.0 000 000 i
ontnhuted anltal i excess of pat. common . s 1.200.000
Ret'uned T e R R S T AT ‘ I.Gflq ODO .
"Tonul stoekBolders” eauiby «miny e imibg, $6,800,000 -

(a) Prepare journal entries for the following selected transactions related to this company's stock during the
current year: aé('\

Apr1  Issued 5,000 shares of common stock for § 14 per share. 710, 000

May 1 Issued 1,000 shares of common stock for $9, cr share. aso0

" Mar. 1 Purchased 10.000 shares of treasury stock tor §17 per share, | [10.000
May 5 Sold 4,000 shares of treasury stock for $I(‘i per share. L e 4000
~ Oct. 12 Sold 2,000 shares of treasury stock for $18 pershare,. | 3(2 000

(b) In addition to the journal entries, answer the following questions:
(b1) After the transactions are recorded, how many shares are authorized?
(b2) After the transactions are recorded, how many shares are issued?
(b3) Afier the transactions are recorded, how many shares are outstanding?

35. For each of the following items, indicate whether it would be classified as an (O) operating activity, an (I)
investing activity, a (F) financing activity or a significant, (N) noncash financing and investing activity. In

addition, indicate whether the amount would be ADDED on the statement or SUBTRACTED on the statement

by indicating a plus or minus.

Pald sk dbvideads Ned ihtome.

L

2. Bought treasury stock

3. Issued bonds payable for cash ,[] ads bpﬂ

4. Issued stock for cash

5. Sold equipment for cash at book value DSC.‘?S
6. Accounts payable decreased over the W
previous year. -

7. Purchases of land for cash

8. Accounts receivable increased over the /\\ a/
prior year.

9. Purchased land in exchange for a note

e Devers Gans
(!
e



36. Based on the following income statement and balance sheet for Rashid Corporation, prepare the cash flows
from operating activities using the indirect method. Use proper format and describe each line you put on the
answer sheet.

Rashid Corporation
Income 3tatement
For Year Ended December 31,2010
Bales o R e T vy ' 1 $504, ODO
Cost of g00ds §01d........cc.mve e e | 0.
Depremauon expe:nsa 3 { : :
Other Operating EXPenses..........omm | 125,300 (495, 100)
!

Other gains (losses): 1 i :

' Gain on sale of eqUIPMENt ... '

Income before taxes ................ s o I $_______ T

].nCOme. £8X BXDENSE ,.voesonsnusssersssnesinns - l o 'l ( ,ggg ),

th mcome""'::.’f"“'_':"""".”' """" e R W R p B Rt b i X o l M

sk = | ’
Rashid Corporation
Balmice Sheets
At December 31

Agsets 2010 2009 A
a7 TR (O 1 $ 64,650 $ 55,800 3230
ACCUNtS TCEIVABIE ...poc oo rscsssssssserssenon 21,000 - 20000 4800
TRTSEEEEY . sserecrnsiten il SRS 58,000 52100 900
Fauipraent.omuaaiasaiisaimsmea 240,000 - 222.000 1§00
Accumulated depreciation ..., ..o (106.000) ( 96,000 10} UDO
Toth] A48t .. and S ARG .&'21'1 G50 $262,900

Liabilities:
Barouintl DAVARIR < imssaasas wR $ 28,400 $ 23,700 4700
Incomie taxes payable ... 1.030 1.200 <| ‘SD7
Total Habilition: o ssimmmsi $ 29,450 $ 24,900

Equity:
Common SEook. s i i $106.000 $106.000 =
Contributed Capital in excess of par value..... 18.000 18.000 =
Retained GarmiiRs ....coooovvvovoessooroeeoreoeieisies 124,200 114000 ]0,200

Totn] S o msnnmmi R e $248,200 $238.000
Total liabilities and equity ..., R $277,650 $262,900
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ACCT 101 — Fundamentals of Acct 1 |
Exam #4 — Chapters 10 — 12 Nibiosg

FOLLOW DIRECTIONS.
| SHOWALL CALCULATIONS

iCHOOSE FOUR of the problems from exam directions and
. prepare complete solutions using good. format on the
- ‘attached working papers. If you do more than four, than
‘ fonly the first four will be graded.
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31. Prepare the JE's as described in exam.

Nt
Pron Aot

GENERALB;}OURNAL
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3650000
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32 (a) Compute the amount of each of the four annual payments

3.540 - A5380.7] or 2S3B]

T
(-
(D) Prép':'ars an amortization schedule for the loan : il
Payment # . Date Payment Interest Principal Loan Balance

[S&e AEOje] | T _

. najog 25331 450020581 (4119
N Bt ‘ (QO XO5) & §

2 231 fio___2s3€] 3450 . 21925 47194
‘ ‘ ¢ (CﬂQHCt xfﬂlj :

24,173

b T fzjg';//z_' ,;)5__32) ;;,zc;q( t

33 5 Allocate the dw:dends between prefarrad and cc:rnmon shareholders accordtngto exam directions

: ‘-Yaar Total to Ba :Ilstnbuted Preferred. Sharahulders j - Eomrnnn Sharahﬁlders

i ; | ox 0%5 S mcffq?mch yr- _
2009 _§8000 BC)O(‘)I 2 =

.2010‘ $10,000 o000 CARE
(zwwlnmewr-) T

J0ii . sBo0g0 A . = IpA
(28001|11wr% I%Rm i q-f‘ﬁg@
?Fﬂi $120 DEIU ‘ . . /O_J_LJ'()O .

/ qgcwotals . . 4/'&’@




34 Prepare journal entries for transactions as directed in exam and answer the quastions:

GENERAL JOURNAL
PAGE_»
DATE i DESGFIIP_LUN PR : DEBITS CREDITS
(A [TCash (So00X0 ) 10000 N
ol ok: i ( Soomin) | SO.0L0 || 2
3 ; -C i 200001 3
4 [aShed STON . Shads 4
-] B QI’:’“F)N'EMAL 5
=] ' s : : B
_ M Tlash (1nopx 9459) gs00 7
g4 RS & S0 R
o - | | CommonSiode (1000d0) 10 00| 8
T Jscved chorse & Q. T L 10
)i | : 11
_2lNawt | Treaeung Stock 170,000 12
13) 5 5 - {"rfﬁzh nOOD. | 1 -
E (1DODLXIT) f1a
15 e 21N 15
16 | Qo I"FDE.A Shoas || 18
| R e ' : 17
18 S c&ah {HODDWM (400D | j
) S ,R/r—' """ ~ | 4000 __|l1e
2ol 7 AL “mzas.uru S'hx)a/ [UDooXI7) | | bICOD]
-1 et ) ' 2
22 ] . s L .92
23 '(YJYZ([JS\’W (WO%IE} L a1 Re000) i 2s
BT I W@ﬁmiﬁ%mi)xl‘ ) | 240 | 2
25 _PE-T @ d _2C 25
28] - i | Sl 26
-z . 1z
‘28 28
29 29
30 - 30
31 31
;:‘sz 32

(b) Answar tha fo[lowlng queslions and SHDW CALCULATIONS wherea appropriate:

; Aﬂer the Bbuve transactlons are recordad, how many shares are authorlzed? Co. C_,h a_,\_j-é’/]

IODDODO

After the abuve transactluns are recorded how many shares are issued?

400(1)0 + SODO e lOCD =40l 000



35 Identify the transactions in exam and state whether the transaction would be an
addition (+) or a deductmn (-) on the statement of cash flows:

© Section: : g . sx b R \
O =Operating e -
| = Invésting |
F =Financing FETN N
N = Non cash financing and investing activity-
Example Section " Add (+) or Subract (--'-’-)
" Increase in prepaid expense account 0
i 1 - E —t
3 = +
" +
5 , 75
6 e
7 T
8 m——n
9 N/ 4

10



36. Show all calculations. Prepare a Statement of Cash Flows USING PROPER FORMAT

as directed in exam: ' W Q//C “ ,
_____ Qreravhrg Secthon
Qies: My I 2pge mmuolee
(hgh ¢ 8D Ao+ INtome.
AR LROOTY Aclds: Don)
mvem 590" ' S
- mm 18000 . L
Acmmm 100 1L
AL | 4700 Leducts: Gaing
Inc TR oLl Z/S“D> w N
cls: . NS
2lé. '
/AR 200 -
ST Rasnd Qrp_
(be/mjma (ﬁmm (sz:z/ﬁn WA @5/23@}7 Fus
f’/l /:}u Yo - 8 ';?OID
N&Hmwm e Tl o, 0 S 15&//,3'00
"Aeldﬁ Donees et &0 - 42 000

DecredeinA/R __RO0D X |
}rwmw N ALP: 47@3 54,700

_;Aw7200'
mw S900
| ]}wm In INC 1A ﬁb? 150
' W bszﬂ]!)r_é
NeCagn Flws Froon gn lehvtndd.




